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Expand

1)
(p4  + 4)(2p2 + 3) = 

2)
(3m2 – 4)(2m3 + 5) = 

3)
(x + 4)(2x + 3)(4 – x) =

Simplify
4)
8p2q4 x 5(p4q3)2 =

5)
(3m4n7)4 ÷ (9m3n2)2 =

6)
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. Indices: What do you notice? .
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Write these with a positive index
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Simplify:

3) 
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Indices involves powers.  The index is the power
Review:

Multiply terms, add the indices   ma x mb = ma+b          Pma x Qmb = PxQ ma+b

Divide terms, subtract the indices

Powers of powers, multiply the indices
Anything to the power of 0 = 1
Negative powers

The negative index is the same as the inverse of the positive index

Rewrite the following with positive index
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Simplify
1)  
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Leave answers with positive indices
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Mixed index problems

















Ex 8.02























Ex 8.01














HW Theta pg 31








(xa)b = xab











Ex 8.03





(Anything)o = 1








Theta 


Ex 8.03








HW Theta pg 14 Done?








Starter





Text Practice: 


 Beta pg. 319   Ex 23.5


 Must   # 1 to 11     Should  #12 to 18


















































Indices





Theta 


(Calculator use)


Ex 8.01)





Negative index


Ex 8.02
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